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Worksheet (9)

Half-life Period <iwall) s 5 2d

* Define half-life.

.d..d.m_)..&sﬂd_?.&*

* Use the graph to answer the following questions:

1- What is the half-life period of carbon-14?

2- What is the mass of carbon-14 after 11460 years?

3- How many years need for carbon-14 to be 1.25 g?

* Solve the problem:

A rock contains 16 kg of uranium-238, its half-life is
4.5 billion years, how many years need for the
uranium mass to become 2 kg?

ALY e ! B ALl au i a2l ¢

Decay of Carbon - 14

10.0 g

100]

25 @ 1.26 g

12.5 1\

o 1 2 3

Carbon-14 remalning (%)

1
a

NMumber of half - lives
(1 half - Iife = 6730 years)
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* The remaining amount of radioactive element:

spiidd) puainl) pe Aadidadl Al Gl *

n

1\" N isthe remaining amount
N = No -§- N, is the initial amount

is the number of half-lives that have passed

* example: Krypyon-85 is used in indicator lights of
appliance. The half-life of krypton-85 is 11 years.
How much of 2.0 mg sample remains after 33 years?

ENEQ - PUNCN UL WA ¥ | ST RT PEEL IR, I DL
e 11 A 85-0 s S Ciaill yae 5558 55 gaY
ple 33 e el e dedndl sl L

* Radiochemical dating: The process of determining
the age of an object by measuring the amount of a
certain radioisotope remaining in that object

* What is the isotope used in measuring the age of
living organism remains in rocks?
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